

APPLICATIONS OF TAYLOR SERIES FOR CARLEMAN'S INEQUALITY THROUGH HARDY INEQUALITY

MOHAMMED MUNIRU IDDRISU AND CHRISTOPHER ADJEI OKPOTI

ABSTRACT. In this paper, we prove the discrete Hardy inequality through the continuous case for decreasing functions using elementary properties of calculus. Also, we prove the Carleman's inequality through limiting the discrete Hardy inequality with applications of Taylor series.

1. Introduction

G. H. Hardy in [4] established the following discrete inequality:

$$(1) \quad \sum_{n=1}^{\infty} \left(\frac{1}{n} \sum_{k=1}^n a_k \right)^p \leq \left(\frac{p}{p-1} \right)^p \sum_{n=1}^{\infty} a_n^p,$$

where $p > 1$, $a_k \geq 0$ and the constant $\left(\frac{p}{p-1}\right)^p$ is the best possible (see also [3], p. 239). The continuous analogue of (1) is given as

$$(2) \quad \int_0^{\infty} \left(\frac{1}{x} \int_0^x f(t) dt \right)^p dx \leq \left(\frac{p}{p-1} \right)^p \int_0^{\infty} f^p(x) dx,$$

where $p > 1$, $x > 0$, f is a nonnegative measurable function on $(0, \infty)$ and the constant $\left(\frac{p}{p-1}\right)^p$ is the best possible. The inequality (2) is

Received August 24, 2015. Revised October 10, 2015. Accepted October 15, 2015.
2010 Mathematics Subject Classification: 26D15.

Key words and phrases: Hardy inequality, Carleman's inequality, Applications, Taylor series.

© The Kangwon-Kyungki Mathematical Society, 2015.

This is an Open Access article distributed under the terms of the Creative Commons Attribution Non-Commercial License (<http://creativecommons.org/licenses/by-nc/3.0/>) which permits unrestricted non-commercial use, distribution and reproduction in any medium, provided the original work is properly cited.

sometimes written as

$$(3) \quad \int_0^{\infty} F^p(x)dx \leq \left(\frac{p}{p-1}\right)^p \int_0^{\infty} f^p(x)dx,$$

where $0 < F(x) = \frac{1}{x} \int_0^x f(t)dt < \infty$ and $f > 0$. These interesting results (1) to (3) are very popular in the research environment and are usually called the classical Hardy inequalities (see also [1], [2], [3], [7], [9], [10], [11], [12] and the references therein.)

Let us also consider the inequality

$$(4) \quad a_1 + \sqrt{a_1 a_2} + \cdots + \sqrt[n]{a_1 a_2 \cdots a_n} < e(a_1 + a_2 + \cdots),$$

where a_1, a_2, \dots, a_n are positive numbers and $\sum_{j=1}^{\infty} a_j$ is convergent. This inequality (4) is due to a Swedish mathematician called Torsten Carleman who discovered it in 1922 (see [3], p.249). In order to agree further with T. Carleman, other Mathematicians also proved the inequality (4) by different methods: Thus by differentiation and the variations of the Arithmetic (A_n)–Geometric (G_n) mean inequality (i.e. $G_n \leq A_n$) methods (See [5], [6] [13], [14], [15] and the references therein).

The aim of this paper is first to provide a simple proof of the discrete Hardy inequality through the continuous case and then recover the Carleman's inequality (4) through limiting the discrete Hardy inequality with applications of Taylor series. This approach here for the prove of the Carleman's inequality is mainly to demonstrate the use of Taylor series in the evaluation of large expressions.

2. Results and Discussions

We begin as follows:

THEOREM 2.1. *Let $p > 1$ and a_k be a non-increasing sequence of positive real numbers, then*

$$\sum_{k=1}^{\infty} A_k^p \leq \left(\frac{p}{p-1}\right)^p \sum_{k=1}^{\infty} a_k^p,$$

where $A_k = \frac{1}{k} \sum_{j=1}^k a_j$ and the constant $\left(\frac{p}{p-1}\right)^p$ is the best possible.

Proof. Consider the non-increasing sequence a_k . Let $f(x) = a_k$ on $[k - 1, k]$. From the integral inequality (3) we have

$$(5) \quad \sum_{k=1}^{\infty} \int_{k-1}^k F^p(x) dx \leq \sum_{k=1}^{\infty} \left(\frac{p}{p-1}\right)^p \int_{k-1}^k f^p(x) dx$$

where

$$F(x) = \frac{1}{x} \int_0^x f(t) dt.$$

Since the function $F(x)$ is non-increasing, it follows that

$$F(k) \leq F(x) \leq F(k - 1).$$

Thus

$$\int_{k-1}^k F^p(k) dx \leq \int_{k-1}^k F^p(x) dx \leq \int_{k-1}^k F^p(k - 1) dx.$$

This simplifies to

$$F^p(k) \leq \int_{k-1}^k F^p(x) dx \leq F^p(k - 1)$$

Thus

$$(6) \quad \sum_{k=1}^{\infty} F^p(k) \leq \sum_{k=1}^{\infty} \int_{k-1}^k F^p(x) dx \leq \sum_{k=1}^{\infty} F^p(k - 1).$$

Considering the first inequality of (6) and then applying (5), we obtain

$$\begin{aligned} \sum_{k=1}^{\infty} F^p(k) &\leq \sum_{k=1}^{\infty} \int_{k-1}^k F^p(x) dx \\ &\leq \sum_{k=1}^{\infty} \left(\frac{p}{p-1}\right)^p \int_{k-1}^k f^p(x) dx \\ &\leq \left(\frac{p}{p-1}\right)^p \sum_{k=1}^{\infty} a_k^p. \end{aligned}$$

Putting $F(k) = A_k$, we get

$$\sum_{k=1}^{\infty} A_k^p \leq \left(\frac{p}{p-1}\right)^p \sum_{k=1}^{\infty} a_k^p.$$

□

THEOREM 2.1. Let a_k be a sequence of distinct positive real numbers not necessarily non-increasing, then

$$(7) \quad \sum_{k=1}^{\infty} A_k^p \leq \left(\frac{p}{p-1} \right)^p \sum_{k=1}^{\infty} a_k^p$$

holds for $p > 1$.

Proof. The inequality (7) is valid for non-increasing sequence $\{a_k\}$ as in Theorem 2.1, where $A_k = \frac{1}{k} \sum_{n=1}^k a_n$. Assume that $\sum_{k=1}^{\infty} a_k^p < \infty$ which implies $a_k \rightarrow 0$. Now let us consider re-arrangement of the sequence $\{a_k\}$ by setting $\sup\{a_k\} = \max\{a_k\}$ and considering the sub-sequence a_{k_j} such that $\{a_{k_j}\}_{j=1}^{\infty} = \{a_j^*\}_{j=1}^{\infty}$. Denote by $(\{a_k\} \setminus \{a_j^*\})$, the difference between the two sequences. Thus

$$\begin{aligned} a_1^* &= \max(\{a_k\}) = a_{k_1} \\ a_2^* &= \max(\{a_k\} \setminus \{a_1^*\}) = a_{k_2} \\ a_3^* &= \max(\{a_k\} \setminus \{a_1^*, a_2^*\}) = a_{k_3} \\ &\vdots \\ a_n^* &= \max(\{a_k\} \setminus \{a_1^*, a_2^*, \dots, a_{(n-1)}^*\}) = a_{k_n} \\ &\vdots \end{aligned}$$

Thus

$$a_1^* = a_{k_1} \geq a_{k_2} \geq a_{k_3} \geq \dots \geq a_{k_n} = a_n^* \geq \dots$$

This shows that the sequence $\{a_j^*\}_{j=1}^{\infty}$ is non-increasing. Hence

$$\sum_{k=1}^n a_k \leq \sum_{j=1}^n a_j^* \leq \sum_{j=1}^{\infty} a_j^* = \sum_{k=1}^{\infty} a_k$$

and

$$\sum_{j=1}^{\infty} (a_j^*)^p = \sum_{k=1}^{\infty} a_k^p$$

while

$$\frac{1}{n} \sum_{k=1}^n a_k \leq \frac{1}{n} \sum_{j=1}^n a_j^*$$

for $n > 0$. Thus (7) is valid for sequence a_k not necessarily non-increasing. \square

Let us now establish some results for the limiting Hardy inequality. First, we present for the case of two positive numbers followed by a generalization.

THEOREM 2.2. *Let $\{a_k\}$ be a sequence of distinct positive real numbers, then*

$$\lim_{p \rightarrow +\infty} \left(\frac{1}{2} \sum_{k=1}^2 (a_k)^{\frac{1}{p}} \right)^p = \sqrt{a_1 a_2}.$$

Proof. Let

$$S_p = \left(\frac{1}{2} \sum_{k=1}^2 (a_k)^{\frac{1}{p}} \right)^p = \left(\frac{(a_1)^{\frac{1}{p}} + (a_2)^{\frac{1}{p}}}{2} \right)^p.$$

Applying logarithm to base e to both sides and using $x = e^{\ln x}$, we obtain

$$\begin{aligned} \ln S_p &= p \ln \left(\frac{(a_1)^{\frac{1}{p}} + (a_2)^{\frac{1}{p}}}{2} \right) \\ &= p \ln \left(\frac{e^{\frac{1}{p} \ln a_1} + e^{\frac{1}{p} \ln a_2}}{2} \right). \end{aligned}$$

Now consider the Taylor expansion

$$\begin{aligned} e^x &= 1 + x + x^2 \left(\frac{1}{2} + \frac{x}{3!} + \frac{x^2}{4!} + \dots \right) \\ (8) \quad &= 1 + x + x^2 f(x) \end{aligned}$$

where $f(x) = \left(\frac{1}{2} + \frac{x}{3!} + \frac{x^2}{4!} + \dots \right) \rightarrow \frac{1}{2}$ when $x \rightarrow 0$. Applying the Taylor series (8) to $\ln S_p$, we obtain

$$\begin{aligned} \ln S_p &= p \ln \frac{1}{2} \left[1 + 1 + \frac{1}{p} (\ln a_1 + \ln a_2) + \frac{1}{p^2} \sum_{k=1}^2 (\ln a_k)^2 f\left(\frac{1}{p} \ln a_k\right) \right] \\ &= p \ln \left[1 + \frac{1}{2p} \ln(a_1 a_2) + \frac{\epsilon_p}{p} \right] \\ &= p \ln \left[1 + \frac{1}{p} \ln \sqrt{a_1 a_2} + \frac{\epsilon_p}{p} \right] \\ &= p \ln(1 + u_p) \end{aligned}$$

where $u_p = \frac{1}{p} \ln \sqrt{a_1 a_2} + \frac{\epsilon_p}{p}$ and $\epsilon_p = \frac{1}{2p} \sum_{k=1}^2 (\ln a_k)^2 f\left(\frac{1}{p} \ln a_k\right)$ for which $\epsilon_p \rightarrow 0$ as $p \rightarrow \infty$ since $\frac{1}{p} \rightarrow 0$ as $p \rightarrow \infty$.

Also consider the Taylor expansion

$$\begin{aligned} \ln(1+u) &= u - \frac{u^2}{2} + \frac{u^3}{3} - \frac{u^4}{4} + \dots \\ &= u \left(1 - \frac{u}{2} + \frac{u^2}{3} - \frac{u^3}{4} + \dots \right) \\ (9) \qquad &= ug(u) \end{aligned}$$

where $g(u) = \left(1 - \frac{u}{2} + \frac{u^2}{3} - \frac{u^3}{4} + \dots \right) \rightarrow 1$ as $u \rightarrow 0$. Applying (9), we find that

$$\begin{aligned} \ln S_p &= p \ln(1+u_p) \\ &= pu_p g(u_p) \\ &= (\ln \sqrt{a_1 a_2} + \epsilon_p) \cdot g(u_p). \end{aligned}$$

As $p \rightarrow \infty$, $\epsilon_p \rightarrow 0$ and $u_p \rightarrow 0$ implies $g(u_p) \rightarrow 1$. Hence

$$\lim_{p \rightarrow +\infty} S_p = \sqrt{a_1 a_2}.$$

□

Now we consider the general case:

THEOREM 2.3. *Let $\{a_k\}$ be a sequence of distinct positive real numbers, then*

$$\lim_{p \rightarrow +\infty} \left(\frac{1}{n} \sum_{k=1}^n (a_k)^{\frac{1}{p}} \right)^p = (a_1 a_2 \dots a_n)^{\frac{1}{n}}.$$

Equivalently,

$$\lim_{p \rightarrow +\infty} \left(\frac{1}{n} \sum_{k=1}^n (a_k)^{\frac{1}{p}} \right)^p = \exp \left(\frac{1}{n} \sum_{k=1}^n \log a_k \right).$$

Proof. Let

$$V_p = \left(\frac{1}{n} \sum_{k=1}^n (a_k)^{\frac{1}{p}} \right)^p = \left(\frac{(a_1)^{\frac{1}{p}} + (a_2)^{\frac{1}{p}} + \dots + (a_n)^{\frac{1}{p}}}{n} \right)^p.$$

Applying $t = \exp \ln t$, we get

$$\ln V_p = p \ln \left(\frac{\exp(\frac{1}{p} \ln a_1) + \exp(\frac{1}{p} \ln a_2) + \cdots + \exp(\frac{1}{p} \ln a_n)}{n} \right)$$

Applying $e^x = 1 + x + x^2 f(x)$ where $f(x) \rightarrow \frac{1}{2}$ when $x \rightarrow 0$, we obtain

$$\begin{aligned} \ln V_p &= p \ln \frac{1}{n} \left[n + \frac{1}{p} \ln(a_1 a_2 \dots a_n) + \frac{1}{p^2} \sum_{k=1}^n (\ln a_k)^2 f\left(\frac{1}{p} \ln a_k\right) \right] \\ &= p \ln \left[1 + \frac{1}{np} \ln(a_1 a_2 \dots a_n) + \frac{h_p}{p} \right] \\ &= p \ln(1 + m_p) \end{aligned}$$

where $m_p = \frac{1}{np} \ln(a_1 a_2 \dots a_n) + \frac{h_p}{p}$ and $h_p = \frac{1}{np} \sum_{k=1}^n (\ln a_k)^2 f\left(\frac{1}{p} \ln a_k\right) \rightarrow 0$ as $p \rightarrow \infty$. Applying the Taylor expansion

$$\ln(1 + m) = m \left(1 - \frac{m}{2} + \frac{m^2}{3} - \frac{m^3}{4} + \dots \right) = mg(m)$$

where $g(m) = \left(1 - \frac{m}{2} + \frac{m^2}{3} - \frac{m^3}{4} + \dots \right) \rightarrow 1$ as $m \rightarrow 0$. Thus

$$\begin{aligned} \ln V_p &= pm_p g(m_p) \\ &= p \left[\frac{1}{np} \ln(a_1 a_2 \dots a_n) + \frac{h_p}{p} \right] g(m_p) \\ &= \left[\ln(a_1 a_2 \dots a_n)^{\frac{1}{n}} + h_p \right] g(m_p) \end{aligned}$$

As $p \rightarrow \infty$, $h_p \rightarrow 0$, $m_p \rightarrow 0$ and $g(m_p) \rightarrow 1$. Hence

$$\lim_{p \rightarrow +\infty} V_p = (a_1 a_2 \dots a_n)^{\frac{1}{n}}$$

as required. □

Remark 1. By Theorem 2.3, we have

$$\begin{aligned}
 \lim_{p \rightarrow +\infty} \left(\frac{1}{n} \sum_{k=1}^n (a_k)^{\frac{1}{p}} \right)^p &= (a_1 a_2 \dots a_n)^{\frac{1}{n}} \\
 &= \exp \frac{1}{n} \log \left(\prod_{k=1}^n a_k \right) \\
 &= \exp \frac{1}{n} (\log a_1 + \log a_2 + \dots + \log a_n) \\
 &= \exp \left(\frac{1}{n} \sum_{k=1}^n \log a_k \right). \quad \square
 \end{aligned}$$

THEOREM 2.4. Let $\{a_k\}$ be a sequence of distinct positive real numbers, then

$$(10) \quad \sum_{n=1}^{\infty} \exp \left(\frac{1}{n} \sum_{k=1}^n \log a_k \right) \leq e \sum_{n=1}^{\infty} a_n.$$

Proof. Replace a_n with $(a_n)^{\frac{1}{p}}$ in inequality (1). Then

$$\sum_{n=1}^{\infty} \left(\frac{1}{n} \sum_{k=1}^n (a_k)^{\frac{1}{p}} \right)^p \leq \left(\frac{p}{p-1} \right)^p \sum_{n=1}^{\infty} a_n$$

Take limits on both sides. Thus

$$(11) \quad \sum_{n=1}^{\infty} \exp \left(\frac{1}{n} \sum_{k=1}^n \log a_k \right) \leq e \sum_{n=1}^{\infty} a_n$$

since

$$\lim_{p \rightarrow \infty} \left(\frac{p}{p-1} \right)^p = e$$

and by application of Remark 1. □

Equivalently

$$(12) \quad \sum_{n=1}^{\infty} (a_1 a_2 \dots a_n)^{\frac{1}{n}} \leq e \sum_{n=1}^{\infty} a_n$$

which is the well known Carleman's inequality.

3. Conclusion

We proved the discrete Hardy inequality through the integral Hardy inequality for decreasing functions. We also established the well known Carleman's inequality through limiting Discrete Hardy inequality with applications of Taylor series.

References

- [1] S. Abramovich, K. Krulic, J. Pečarić and L.E. Persson, *Some new refined Hardy type inequalities with general kernels and measures* Aequat. Math. **79** (2010), 157–172.
- [2] A. Čizmešija, J. Pečarić and L.E. Persson, *On Strengthened Hardy and Polya-Knopp inequalities* J. Approx. Theory **125** (2003), 74–84.
- [3] G.H. Hardy, J.E. Littlewood and G. Pólya, *Inequalities*, 2nd ed., Cambridge University Press, Cambridge, (1952)
- [4] G.H. Hardy, *Note on a theorem of Hilbert*, Math. Z. **6**, (1920), 314–317.
- [5] M. Johansson, L.E. Persson and A. Wedestig, *Carleman's inequality- History, Proofs and Some new generalizations*, J. Inequal. Pure Appl. Math. **4** (2003), 1443–5756.
- [6] M. Johansson, *Carleman type inequalities and Hardy type inequalities for monotone functions*, Ph.D thesis, Luleå University of Technology, Sweden, (2007)
- [7] S. Kaijser, L. Nikolova, L.E. Persson and A. Wedestig, *Hardy-Type Inequalities Via Convexity*, J. Math. Ineq. Appl. **8** (2005), 403–417.
- [8] S. Kaijser, L. Nikolova, L.E. Persson and A. Öberg, *On Carleman and Knopp's Inequalities*, J. Approx. Theory **117** (2002), 140–151.
- [9] A. Kufner, L. Maligranda and L.E. Persson, *The Prehistory of the Hardy Inequality*, Amer. Math. Monthly **113** (2006), 715–732.
- [10] A. Kufner, L. Maligranda and L.E. Persson, *The Hardy inequality: About its History and Some Related Results*, Vydavatelský Sevis Publishing House, Pilsen, (2007)
- [11] J.A. Oguntuase and L.E. Persson, *Refinement of Hardy inequalities via superquadratic and subquadratic functions*, J. Math. Anal. Appl. **339** (2008), 1305–1312.
- [12] J.A. Oguntuase, L.E. Persson, E.K. Essel and B.A. Popoola, *Refined multidimensional Hardy-Type Inequalities Via Superquadraticity*, Banach J. Math. Anal. **2** (2008), 129–139.
- [13] C.A. Okpoti, L.E. Persson and A. Wedestig, *A Scales of Weight Characterizations for discrete Hardy and Carleman type inequalities*, Proc. Function Spaces, Differential Operators and Nonlinear Analysis (FS-DONA 2004), Math. Institute, Acad. Sci., Czech Republic, Milovy, (2004), 236–258.
- [14] C.A. Okpoti, *Weight characterizations of Discrete Hardy and Carleman's type inequalities*, Ph.D thesis, Luleå University of Technology, Sweden, (2005)

- [15] J. Pečarić and K.B. Stolarsky, *Carleman's inequality: History and new generalizations*, Aequat. Math. **61** (2001), 49–62.

Mohammed Muniru Iddrisu
Department of Mathematics
University for Development Studies, P. O. Box 24,
Navrongo campus,
Navrongo, Ghana
E-mail: immuniru@gmail.com or
mmuniru@uds.edu.gh

Christopher Adjei Okpoti
Department of Mathematics
University of Education
Winneba, Ghana
E-mail: caokpoti@yahoo.com